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What would you do to balance this equation?

1N, + 1H, = 1 NH,

2 1 2 3

Double the coefficient of N, (2 N, )

Multiply coefficient of H, by 3(3 H,)

Multiply subscripts of H, by 3 ( H,)
Double the subscripts for NH; ( N,H,)
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Double the coefficient of NH; (2 NH,)




What was your first step in balancing this equation?

SO, — SO,+0,

nange the coefficient of SO,

Does not have a

hange the coefficient of SO,  correct answer,

but A is the most efficient
way
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nange the coefficient of O,




What was your first step in balancing this equation?
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1CH,+ 10, == 1CO,+ 1H,0

Change the coefficient of CH, ~ Possrnotheves -
Change the coefficient of O, Al cholces will work,
Change the coefficient of CO, <"
Change the coefficient of H,0O




&) &) Key
O H
\& S ) D s

Which of these chemical formulas describes the contents
of the box above?

a. 4SH,

b. (SH,),

c. Both AandB

d. Neither AnorB




Which of the boxes below contains
a picture representing 2 AsCl;?
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Balancing Chemical Equations

How many coefficients need to be changed to make
this chemical equation balanced?

Zn(s) + HNO,(aq) = Zn(NO;),(aq) + H,(g)

None
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Balancing Chemical Equations

0CO,+ 0H,0 == 0C,H,+ 00,

After you balance this equation, what is the final
coefficient in front of O,?
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90 00,
Balancing Chemical Equations

Unbalanced equation:
0CO,+ 0OH,O w=mp 0C,H,+ 00O,

Balancmg IN Progress:  otice that it is NORMAL that you’ll revise your coefficients (possibly more than
once) as you work towards a balanced equation, since changing one coefficient may 5

27[ affect an element that you previously balanced.

\&(02 + 24,0 — ZCyH, “C/’{OZ\

\ _/\/\/ /,_, 7, f
Balanced equation:

4 CO,+2H,0 == 2CH,+ 50,




Balancing Chemical Equations

“Level 3” — More challenging

0CHg+ 00, == 0CO,+ 0H,0

Press ‘A’ on your clicker when you think you
have correctly balanced this equation.




Balancing Chemical Equations

“Level 3” — More challenging

0CHs+ 00, == 0CO,+ 0H,0

What is the coefficient of H,0 in the balanced equation?
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Balancing Chemical Equations

Starting from words

When white phosphorus (P,) is exposed to oxygen gas (0,),
it begins to burn, producing tetraphosphorus decaoxide.

Is this the correctly balanced chemical equation for this
reaction?

4P+50, 2 P,0,,

a. Yes.

b. No.
c. Impossible to determine.




